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Sign Test for Median: C2 

Sign test of median =  1.000 versus < 1.000

     N  Below  Equal  Above       P  Median

C2  12      0      0     12  1.0000   2.325
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Wilcoxon Signed Rank Test: A-B 

Test of median = 0.000000 versus median not = 0.000000

            N

          for   Wilcoxon         Estimated

      N  Test  Statistic      P     Median

A-B  10    10       46.0  0.067      2.000

Kruskal-Wallis Test: C2 versus C1 

Kruskal-Wallis Test on C2

                      Ave

C1        N  Median  Rank      Z

A         6   1.945   4.2  -2.43

B         7   2.500   9.4   2.43

Overall  13           7.0

H = 5.90  DF = 1  P = 0.015
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